=

- . F - - 4 - o E
! _— — = — —_— = =
.

. TEERSST EERRR R e e —t—" | — —

HCTISTE Couching Jor SRetRemancy il Solence
Roll No.19104)
KENDRIYA VIDYALAYA SANGATHAN, PATNA REGION
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SCIENCE |
TIME - 3 HOURS ] [ MAX. MARKS - 90
Frerifia a3 wued ] [ etfereraw 3i@ : 90

GENERAL INSTRUCTIONS :
(i)  All questions are compulsory.

(i) The question paper comprises of two sections, A and B. You are to attempt

both the sections.

(iii) Questions 1 to 3 in section A are one mark questions. These are to be answered

in one word or in one sentence.

(iv) Question 4 to 6 in section A are two marks questions. These are to be answered
in about 50 words each.

(v) Questions 7 to 18 in section A are three marks questions. These are to be

answered in about 50 words each.

(i) Questions 19 to 24 in section A are five marks questions. These are to be

aglswered in about 70 words each.

(vi) Questions 25 to 27 in section B are 2 marks questions and Questions 28 to
36 are multiple choice questions based on practical skills. Each question of :
multiple choice questions is a one mark question. You are to select one most

appropriate response out of the four provided to you.
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(3) X / Se.
SECTION -A

An atom has electronic configuration 2, 8, 7. What is the atomic number of

this-element ?

Us URHETY] RRIhT geldg i O 2, 8, 7 9 T BT URHIY AT T 7 ?
Name the mirror that can give an errect and enlarged image of an object.
< o 1 W A S i a7 e qen araffa aRife = @ ?

What are fossils ?

Siared a1 8 7

Describe the role of the following in liuman beings :-

(a) Seminal Vesicles

(b) Prostate gland

g R ¥ FrefoRad @ i o1 qo oY —

(@) gorE

(@) uR<e Hfy

A trait may be inherited but may not be expressed”. Justify this statement.

'Wﬁm%ﬁsﬁéa&mwﬁﬁmuﬂmﬁﬁﬁ#sﬂtﬁmﬁ%g&
HINTY |

What are decomposers ? Write two important roles they play in environment.
JUECE a1 B § 7 YR § g <1 Aucayul el B ford |

Five the general formula of

(@) alkane

(b) alkene and

(c) alkyne
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(4) X / Sc.
W g3 Ifg—
(®) e
@) It qAT
(M) srcrprEs

What are the names of following compounds ?

(@ CH,—CH,—Br

H
C
H H H H H
| | I I |
O H =€ = =~ &—F — C'= € amll
(c)
I I I I |
H H H H H

SR QU T Afrel o1 9 T |

The position of three elements A, B, C in the periodic table are shown below :

Group - 16 Group - 17
A
B _ C

(@) State whether ‘A’ is a metal or non-metal.
(b) State whether ‘C’ is more reactive or less reactive than ‘A’

(c) Which types of lon-cation or anion will be formed by element A.
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10.

@

13.

SUNIL LULORIOL

X / Sc.
st <ot % A1 T A, C A Ry YT T % ‘
HIE — 16 E — 17
_____ A
B C
3§ gan & -
(@) A €Ig € AT HEG|
(@) A’ @ 3 ‘C 3t ikt & a1 4 |
(M T AP 9PR G- Al HOMIA FATYT |
Locate the following groups in the Periodic table :
(@)  Alkali metals (b) Halogens () Noble gases
A oy g @it @ aat wReft A g —
(@) arebel argy (@) geoH (M) omeel W

Explain the process of regeneration in planaria. How is the process different

from reproduction ?
QRIRAT § TG ufhar e | aE wfkar S & R geR e 8 2

What are sexually transmitted disease ? Name any one which is caused by

e —

bacteria and one caused by viral infection.

<Ifires GaRor T f¥y PHEd ® ? §9 UBR P BIE Y U BT AW fARay 1 Siarg
SIfe BT ® ok Sl arRw g1 WaRd B ¢ |

How is the sex of child determined in human beings ?
Aral # gl b o fuiRer $9 giar g 7
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y 7] X/Sc.

17. A 14 years old student is not able to see clearly the question written on

{<8.

blackboard placed at a distance of 5 km from him —
(@)  Name the defects of vision, he is suffering from.

[b) How can it be corrected ?

x(c)  With the help of ray diagram show how this defect can be corrected.

14Hﬁﬂﬁmﬁmmmﬁmﬁﬁ%‘,ma€wﬁsﬁoaﬁ{ﬁ
W3 I s -

@) dEfFragfcmyRfeas?

@) P9 yeR 39 GfeT fear &1 awar & ?

(M fexo—3m@ & grT T 6 o 39 A9 FT WU fhar o1 wpar & 2

Define the following terms —

(@) Cornea (b) Retina (c) Pupil
A fau U e @1 gl #ifsre —
(@) @ @) ¥ (M
Draw the electron dot structure for —
(@) = CH, {B)! 1oCHySCH (€ HCHO
(d CH,COOH ] C.H,
golagie g e g — 5.

- (® CH, _(@) CH,=CH, (1)  HCHO
() CH,COOH ($) ... CHy
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22.

23.

24.

NSUNIL _TUTORIGL

(8) X / Sc.
(a) Draw a labelled diagram of the female reproductive system of human
(no description)
(b)  Where fertili;zation takes place in female body ?
(@) AT ATGT SIS BT AMTfbd oA g9 |
(@) HArer 3 & fa WrT # v g1 2 )
Explain the importance of fossils in decidiﬁg evolutionary relationships.

SIATeH &1 Hgcd Wafdard @ Hey & [Afed &xal 8 | IRAT BT |

An object 4.0 cm in size is placed at 25.0 cm in front of a concave mirror of
focal length 15.0 cm. At what distance from the mirror should a screen be
placed in order to obtain a sharp image ? Find the nature and the size of the

image. Draw a ray diagram to show the formation of image.

Bl aﬁeaqcfﬁraraﬁﬁﬁzt.ow.wWa&mmﬁ'&m%mzs.oﬁﬁw
W] OffdT 8 15.0 9L | 912U ¥ g WX U Whid USH ool BfY UTe A & oIy
2l ST @Y ? upfa iR Bfd &1 eR ovrar 8 | Bfd & fawor amw oy |

Suggest reason for each of the following —

{a)  The sky near the horizon appears to have reddish colour at the time of

sunset and sunrise.

-xElJJ The sky appears dark instead of blue to an astronaut in the space.

fore 5 9 udd @ forw dRor f —

() qEieE o Ete @ wy e o) T ool fRwE qe 2|

(%) or<IRe H U If=fRer ATl Bl TBTer AT I &) U] Do fe@rs <l 7 |

* Energy flow in a chain is unidirectional”. Justify this statement. Explain

how the pesticide enters a food chain and subsequently get into our body.

“fBefl SMER Sjgen d Huli—yare e fffis gar 217 39 FuF @l gfe S|
wreara fhdl ABR Agell # UdY PP dlc H AR IR H HY UEd Od & |
5\ i
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T A/ DC.

SECTION - B

25. Three students performed experiment by adding Na metal, Na,CO, and

26..

_NaHCQO;,, solution in acetic acid in test tube A, B, C.

(@) Which gas(es) is/are evolved ?

(b) Give chemical reactions.

N BTAl Na H@,.Nazcosaﬂ?NazcoséRE\?ﬁA, B, C % tRifit® R #
TART TS & g1 54T far war —

(@) fabRT o gas(es) 8 /8 ?
@) warafe afafeand <
Out of four slides, I, II, 111, IV whose details are shown below —

(@) Which one should be focused under the microscope for showing
budding in yeast ?

1c AR ustify your answer.

B o TN o
“}gﬁ &}1‘ S s
o0 08 - TR
I I 111 4%

IR ¥AgSd, 9 48} &, 1, 11, 111, IV foraar fRawop e fewrn e -
(@) fopfia @1 gas(es) 8 /8 ?
(@ <t vRiE ¥

£ : i
& S e ® M‘ﬁﬁ: :
PG g 108 P
oL “
I 11 111 IV
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28.

29

= - ' - h B B M Y .
ACBSE Coaching for Mathematics

(10)

) - -

X / Sec.

A student obtained a blurred image of an object on a screen by using a

concave mirror. In order to obtain a sharp image of the same ob ect on the
screen :

(a)
(b)

Where will we have to shift the mirror ?

Why will he do so ?

Teh BTA Ueb el U PI IUINT B §Y VS BbIF WX el sifesiae &7 o gererm

B3 AT B | THIT TR T & a%g D T ol Bid U<i B @ forg

(%)

()

STet 81 AmEA e &3 gnm ?
98 UHT &1 B 2

Vapour of Acetic acid smell —

(@)
(b)
(c)
(d)

Pungent like vinegar
Sweet like rose
Suffocating like sulphur diacxide.

Odourless like water

Wifed ot @ arsy @ Ty =i @

(®)
(@)

()

(@)

Rrea oRfY el
e SR A
TP SIgifadgs Sl €F geo arell
EEAYKIRELE]

Acetic acid reacts with sodium hydrogen carbonate

(@)
(b)
(c)
(d)

Slowly forming no gas
Vigorously width effervescence
Slowly without effervescence

Vigourously without gas formation
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' " P ]

CIfed St SN NIfeTH Bgsor ddi-e | aififhar sxar &
(@) dR-dR fa=1 9 990

(@) 9 cigar | gagarEe B A

(M ER-¢R 31 gEgEEe B

(@) 9gad digar ¥ far A 90

30. The by-product in saponification reaction is :

X / Sc.

(a) Glucose

(b) Glycerol

(c)  Glycerine

(d) Glycogen

gAY AMhar § SU—IeUTg o+l & —

@) T
(@) Rewta
(M ferE
(@) TeTEHOH
31.  Which of the following in the figure represent pseudopodia ?
a A :
b] B
fc). & |
@ BothAandB "
S effreT 3 fraRad pseudopodia &1 YA &xa &
@ A
@ B
o) €
(@) AvdBIF 2
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A=y - / Se.

32. The shape of yeast cell is

33.

(@) Only spherical

(b) Only oval

(c) Irregular

(d) Both oval and spherical
@i PIRIFT B gy 2

(@) e MATBR

(@) D ASPR

(m

(@) <Ml fETBR AR MeHR
The character that will remain unaltered as light moves from one medium to
another is :

(@)  Velocity

(b) Wavelength

(c) Frequency

(d None of ihes"e-

aRE & 6 76 <& M1 & WU # YT TP A W GEY Ped B forg o o &

@ am
(@) T
m syl
(=) 37H Q Pig 7@l
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(13 X / Sc.

34. A concave mirror is distinguished from a convex mirror using the -property

35.

of :

. Al Convergence

(b) Divergence

()  Magnification

(d) Linear propogation

TFH I7ade gUoT &) AURY BT STANT R T Il auor 9 wfaftsd faar 2
(@) IR

(E?{ JIERYT
()  maRd erHan
(@) ™ AEEE

In finding the image of a distant object of a tree by concave mirror, you are
required to hold a vertical plane white board at :

[a_] Centre of curvature
(b) Pole

(c) Focus

(d) Behind mirror

o g o A g R g B AR W e 3 R @ W A @
SR G IS — '

() .'clﬁv?ﬂ?ﬁﬁ'tl'\’
@ W

m we W
(@ <o @ 4w
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(14) - X / sec.
36. Four students A, B, C, D were asked to take three sets of observations for

tracing the path of a ray of light through a glass slab. The choices of different
angle of incidence made by them were as

(@ 10° 15° 20°
(b)  15°, 20°, 25°
(©  30° 45°, 60°
(d 70° 75°, 80°

awmaTa?rA.B.c,Dtgmﬁhﬁawwﬁazﬁwﬁmaﬂwﬁﬂw
W T S B g Rt & o o farg o) | faf=1 ivT Y I gRY Ay o
TR & fAdey & wy F o -

(®) 10°, 15°, 20°

@) 15°, 20°, 25°

@@  30° 45°, 60°
(Ef)k 70°, 75°, 80°
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